va=E% FEEFENo. E7 2R % m R B HiGER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
27mvy o | 11 7| 2 2102|8T BEF BlLxzZES |[&&K%ZF100m
27mvy s | 11 F | 2 2310[/NR B BlLxz¥ES |[&@KR%F100m
27av s | 11 X 2 2109(85 K Ei BlLxzZES |[&&K%F1500m
27mvy o | 11 J 2 2441|()118%  FETL BlLz¥ES |[&KR%ZF200m
27av s | 11 vo| 4 2111/ BE BlLxzZES |[&KR%ZF400m
27mvy o | 11 k 4 23091 = BlLz¥ES |[@RZF4X100mR
270y 11 = 4 2110|m e HED BlLZFES |&KRZF¥Y%(600g)
27mvy o | 11 ~ | 4 2591|F M FER Bl ZFE P22 F100m
27mvy o | 11 7| 6 2595(FH EH Bz FEF 22 F100m
278y Y 11 > 6 2593|HilE  BEF BilLlZF RS F% 4 F100mH(0.762m)
27av s | 11 X 6 2594 |@EH EFM Bz FEF 22 F1500m
270y 11 / 6 2592|%8 RHETF BilZZ=E+ R F4X100mR
27my o | 11 vl 8
27mvy o | 11 k 8
2708y 11 = 8
27mvy o | 11 * | 8
27my o | 11 F | 10
27mvy o | 11 + | 10
27avs | 11 X | 10
27mvy o | 11 /| 10
270y | 12 Vol 12 419[1tE =i BB S ERZF100m
270y | 12 M| 12 460[/\PR - EfK BHBRS SR ZF100m
27Ry o | 12 = | 12 420(4bAF T BEHER = ERZF400m
270y | 12 | 12 2%l E/R BB SRZFA4X100mR
278y | 12 T | 14 176|EME EfHm BHER = ERZFA4X100mR
270y 7 | 12 F | 14 M8|fEARE A BHBRS SRZFA4X100mR
270y | 12 X | 14 459|Fafp R BB S SR ZF4X100mR
278y | 12 J | 14 3|IEE P BHBRS =R ZF800m
278y 12 vl 16 1773 R BRERS BHALF A v 7 —1%(4.000kg)
270y | 12 k| 16 683|ILHE EKER BHBRS =SB F100m
27Ry o | 12 = | 16 218|EFR EE BHER = =B F1500m
270y | 12 ~ | 16 682|#0)!| ZEHE B S S5 F1500m
270y | 13 7 | 18 741 B fBRG B S BB F200m
27my o | 13 F | 18 532|kE  EX BB S =R EF3000m
270y | 13 X | 18 681 AT HIK BHRERL S S5 F3000m
27avy s | 13 /| 18 27654 FEH BB S ESREF400m
270y | 13 v | 20 743|R  BEAT B S BB F400m
27my o | 13 k| 20 1|NEE BE BHBRK S =R EBEF4X100mR
270y | 13 =1 20 277|MHE  EH B S =R EF800m
27my o | 13 > | 20 2797k A BHBRK S =R EF800m
270y 13 T | 22 733|h0%R  ERC BHIER S BHBF /N < —12(6.000kg)
270y 7 13 F | 22 813|Z&R KiE BRI BHEBEF N v —12(6.000kg)
270v 7 13 X | 22 12|k EZE BHE RS SR8 FHRIALIZ (6.000kg)
27my o | 13 J | 22




V=% FEE & No. E7R % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
270y 7 14 V4 26 5062|MNE AR Sl % F100m
278y Y 14 k| 26 K072|8HA ©®FE EEd FF 2 F100m
270v 7 14 = 26 H284(MH #H0 EEh % F100m
270y 14 T 29 5064| K5 E ET 522 F1500m
270y 14 > | 29 5069k KFE BEH ¥4 F1500m
278y Y 14 vl 31 5071|& T A BT 5% F1500m
270y 14 | 31
278y 7y 14 - | 31
270y 14 7 | 33
278y Y 14 + | 33
278y Y 15 v | 35 170|FH &3 BFREAS =R ZF1500m
270y 15 b | 35 172120 BR FRERAS =R F1500m
270y 15 - 35 168(1lLE  #B3E FHRHES SR ZF800m
278y 15 T | 37 174\ K7 EBEF FHEHS =SR2 F800m
278y 7 15 F | 37 792|FEEE  Eie BFREAS =REBEF100m
270y 7 15 v | 39 189|FEE f&E FRERAS =REF200m
278y 7 15 | 39 255|YEME  AHES BFREAS =B F3000m
278y 15 = 39 2594 AR 2L FHEHS =B F3000m
27mvy o | 15 7 | 41 268|Mh  {EKEA BHEAAS BB T #(800g)
270y 7 15 > | 41 791|E+ =8 FRERAS BREBF Y #%(800g)
278y 7y 16 v | 43 261|Ev & K RIE FHEHS 5% 5B FHRIML% (6.000kg)
270y 7 16 b 43 262|B/H REXN EHIRES BB FRIN % (6.000kg)
270v 7 16 — | 43
278y 7y 16 7 | 45
278y 16 + 45
278y 7 16 Vo 47
278w 16 k A7
278y 7y 16 = | 47
27my o | 17 b 2 1147/ RR %22 ZWFES =R F100m
270y 7 17 ~ 1| 2 7150(F 8 =8 ZHFERS =R F100m
278y 7 17 < 2 7143|148 OB ZHFRERS B4 F100mH(0.840m)
2780y Y 17 N 4 7162|HR  Fk3E ZHFRERS S 4 F100mH(0.840m)
278y 17 7 4 715738H F4 %k ZIEFE S BER & F100mYH(0.762m)
278y 7 17 BR 4 7158(M1Y & RS B F100mYH(0.762m)
270y 7 17 A 6 T134|f0H = ZHFEERS =R ZF1500m
278y Y 17 7 6 7138|xA FH ZHFRERS =R F1500m
278y v 17 ~ | 6 T142|hiR 2= ZHFES =2 F200m
278y 17 E 8 7154|8kH EiK ZIHFEE =SR2 F200m
278y 7y 17 BR 8 7159(#t {=Fa ZHFES B F400mH(0.762m)
278y 7y 17 < 8 1727|2R MER ZFES B F400mH(0.762m)
278y Y 17 ~ | 10 1125/ 2 DA ZHFERS =R ZF4X100mR




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
270y 7 18 2 1 71491/l B ZHFEE =2 F800m
27my o | 18 |10 7161(/b Ok ZRFES =R ZF800m
278y Y 18 7 | 10 7137|RE BE ZHFES BT /N> 7 — 4% (4.000kg)
2780y Y 18 B | 12 T164|1TN  BETE ZHFRERS BHLF N v —12(4.000ke)
270w 2 | 18 | 12 T133|H=ZE EE ZRFES =R F =Bk
278y | 18 < | 12 T140|RA)I 2 ZHFRERS BT = BBk
270y 2 | 18 N 14 7145|894 =Rk THFES ERZFESB
27my o | 18 ~ | 15 7163|/hEF 225 ZRFES SR FESB
27my 7 | 18 7 | 16 7146(1LO HE TRFES =R FERB
27my o | 18 = | 16 7160|R)Il 2 ZHFRERS =R FERB
27my 7 | 18 < | 16 7068|HE1  IHEE ZRFES =B F100m
27Av o | 18 |18 7079|=81 Ak T E =R EF100m
278y Y 18 | 18 8111|£H =R ZIHFEE EHEF110mIH(0.991m)
270y 18 AN 20 7052| K11 =P T ES SR EF1500m
270y 7 | 18 < | 20 70778l TAE Y R ZHFES =B F1500m
27Av v | 18 ~ | 21 7076|B/E KRE ZPFES =REF200m
27mvy o | 19 |23 7078|ER & ZHFRERS BB F200m
2708w 7 19 - 23 8112|1/m=Z 1hHA ZIF RS =R EF400m
278y 7 19 * | 26 7065|1&)1l  fEHB ZHFE S BB F400mH(0.914m)
270y | 19 | 27 7070|t@H EEE ZHFES SR B F4X100mR
27mvy o | 19 N 28 7067|120 —Ig ZHFRERS =B F800m
270w 2 | 19 X | 29 70742 FH— ZHFES =B F800m
27Rav s | 19 /| 29 708078  SEARER ZWFES BREF /N> 7 —#(6.000ke)
278y 7y 19 x| 31 7069(fIEE EE ZFES S B F 8% (1.750kg)
270y 2 | 19 X | 33 7054|E4 K B ZHFRERS =R B F =Bk
270w 2 | 19 / | 33 7T059|fFBE  BPOR ZHFES ERBFESB
270y | 20 E | 31 7064|211 uE ZHFES ERBFESB
27mvy 7 | 20 Nl 32 7055|RHE X ZHFRERS =R 5 FERB
270y 7 | 20 * | 35 7063| &M st ZHFES =R 5 FERB
27mvy 7 | 20 E | 35
270y 7 20 /N 36
278y | 20 X | 37
278y 20 / 37
270y 7 20 x 39
278y 20 X 41
278y | 20 /| 41




V=% FEE & No. E7R % B R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
270y 7 21 A 4 22875 = HEHES =SR2 F100m
27mvy o | 21 L] 12 2289|TH XA HHES =R F100m
278y Y 21 T |23 24111/ vk EB HEHES =R F1500m
270y 21 2 27 2286(H LB HAF HBES SR ZF200m
278y 21 7 35 2288|INE A % HEHES =SR2 F200m
27mvy o | 21 ~ | 38 2410 KE¥ CEd HEHES SR FESB
278y 7 21 | 39 2412|@ FIm HHES BRZFE=B
278y Y 21 7 | 39 2461 |3y # HHES =RBEF100m
278y 21 /N 40 2640[858 378 HEHES =REF100m
27mvy o | 21 < | 41 2462 |t KA EHES S EF110mH(1.067m)
278y s 21 > | 43 2637|H ®BE HHES S EF110mIH(0.991m)
278y Y 21 | 43 2467|81H RN HHES =B F1500m
278y 21 /N 44 2636|123 —# HEHES =R EF1500m
278y Y 21 X | 45 2635k KR HHES =B F200m
278y 21 / 45 2639|(F ik BHE HEHES =R EF200m
278y 7 21 > | 47 2468|104 EK HHES =B F3000m
270y 22 2 7 2641(%H Bi% HBES =R B F3000m
278y 7y 22 T |11 24713Rk% 2 HEHES =R EF400m
278y 7 22 7|21 2634|225k  RAKER HHES =R B F400m
278y s 22 ~ | 26 2643|k8  KH HEHES B EF400mH(0.914m)
278y 7 22 < | 26 2469|110 Gl HHES =B F4X400mR
278y 7 22 | 27 2638| B K& HEHES =B F4X400mR
278y 7 22 ~ | 28
278y 22 < 30
278y 23 N 2470 At X% HEHES =B F800m
271y | 23 I 2642|FREE =R HEHES =R EF800m
278y 23 2 15
278y 7 23 T |19
278y 7 23 7 | 27
278y 23 7 | 31
278y 7 23 ~ | 32
270y 7 23 AN 33
278y 23 ~ 34
270y 7 23 AN 37
370y 7 5 o 1 4205|F4  1BTE FRAFRS |&KZF100m
37Aavs 5 H 1 4228|E  H9 FRAFRE |@RZF100m
378y 7 5 0 3 4208|104 EEF PRAFRS |[EE&F100mH(0.840m)
37Aavs 5 T 5 4211|pH 2% PRARRS &% F100mH(0.840m)
37avs 5 v 5 4225|BA HE hRAFRS &KL F100mYH(0.762m)
37avy s 5 0 7 4203|/N8 MBS FRAFRE |@®RZF1500m




7avy FEEFENo. E7 2R % m R B HiGER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
37av s 6 a | 10 4216|511 BHE PRAFRS |&KRZF1500m
370y 7 6 7| 12 4215|781l OB PRAFRS |&KRZF200m
37avs 6 # | 12 4221|BtE EfE PRAFRS  |@RZF200m
37mvy 7y 6 a | 14 4224|FhEF A0k PRAFRS |&KRZF400m
37av7s 6 7| 16 4226|708 PMAF FRAFRS |@RZF400m
37avy s 6 H# | 16 4209|294 FEIESE hRAFRS  |&SKZF400mH(0.762m)
37avy 7 2 1 4222|BRE8 RRHEE PRAFRRS @& F400mH(0.762m)
37av s 7 Vi 1 4214|187 EH PRAFRS |@RZF4X100mR
37avy 7 > | 3 4227|81H #F% PRAFRS |&RZF4X100mR
37av s 7 + | 3 4206(ILH #EE FRAFRS  |@®RZF800m
370y 7 7 Z | 5 4219|FKR =% PRAFRS |&KRZF800m
37avy s 7 Vi 5 4210(B5 ki PRAFRS |[BREFY#H600g)
370y 7 7 > | 7 4235(85K k¥ PRAFRS  |&RZFeY#%(600g)
378y 7 7 + | 7 4234\ KH InfE PRAFRS |SREZFZEB
370y 7 7 VAR 4202|HE BT PRAFRS |ERZFESB
370y 7 8 > | 10 4220|BR HEE PRAFRS |EREZFERD
378y 7 8 + | 10 4231|BH EF PRAFRS |SRZFERB
37avy s 8 Z | 12 4204\ 8  FoBE hRAPRS  |EERLFEME4.000kg)
37avyy 8 v | 13 4229\ HEH IBTh FRAFRS SR & FEIALIZ (4.000kg)
370y 7 8 > | 14 4388[tEAR AN PRAFRS  |[&REFLI00m
378y 7 8 + | 14 43908 |4E8F IBHE PRAFRS  |@RBEF100m
37avs 8 Z | 16 4389| =18 EiY FRAFRS [ERBEF110mH(1.067m)
37avy 8 vl 17 A4403|h0E EK PRARRS [EHRBF110mIH(0.991m)
370y 7 9 F | 2 4395|FIE  FEX PRAFRS |EREF1500m
370y 7 9 7| 2 4416\ 1LH BEF PRAFRE  |&KEF1500m
370y 7 9 z 4 437584 KA FRAFRS |[&KREF200m
370y 7 9 vo| 4 4386|AIM fin st RPRAFRE |[&KREF200m
378y Y 9 F | 6 4380|/NIL kS E PRAFRS  |®KREF3000m
37avy 9 7| 6 4426|1LfE FRHEE FRAFRE |&KEF3000m
3Z7mvy2z | 10 z 8 4381 [/ KB PRAFRE |[&KREF400m
37y | 10 vl 8 4382|F@)Il E= PRAFRS  |EREBEF400m
37mvy 2z | 10 F | 10 4396|FHIE RE PRAFRS |@RBEF4XI00mR
37mavyz | 10 7 | 10 4402|BHE Kb PRAFRS |[&KREFIX100mR
3Z7mvy 2z | 10 £ | 12 4405(F 1L BB PRAFRS  |@RBEF4X100mR
37mavyz | 10 Vol o12 4378|[ME  HER RRAFRE |[&KEF800m
3 7oy | 11 7 | 14 4415F2K 1= PRAFRS  |&KREF800m
370y 7y 11 7 | 14 4397|%H F=%E FRAFRS BB F/ > 7—#(6.000kg)
37y | 11 2 | 16 4421 |1EH K PRAFRS |[@EREFLYEEB00g)
37avs | 11 v | 16 4423 |FAIER  ZRHh PRAFRS |[BREFLYEEB00g)
37y | 11 ¥ | 18 4390(MNEkE 8 PRAFRS |EREFZEB
37avs | 11 7 | 18 43935  HAKX PRAFRES |@RBEF=EB




FEE & No. E7R % m R B HizER
EFEESIE [27avysy v 12] - [2-v-12]

2 | 20 4374 %H EiE FRAFRE |ERBFERBK

v | 20 4419))11O0 EZ PRAFRE |@RBFERB

F | 22 4385|M8  FK FRAFRE |ERBFESHK

7 | 22 4425|FH BBk PRAFRE |@RBFESK

X 24

V4 24

F | 26 2135|408 RikHE EXES =R ZF100m

T 26 2137|478 HEE EFES =SR2 F100m

2 | 28 2228|3kFHF  FH4 EFES SR F100mH(0.840m)

vo| 28 2226|778 HEEE EFES B4 F100mYH(0.762m)

F 30 2141aA  #&dt EFES =SR2 F1500m

7 | 30 2143|118 HF XE EFES =R F1500m

2 | 32 2142/\i&  HASE EXES =R ZF200m

V| 32 2145\ K3 & EFES =R F200m

F | 34 2231|dtlms  ©iB EFES =R F400m

T 34 2232\ RE EFES SR ZF400m

2 | 36 2132 =¥ EFES SR F400mH(0.762m)

V4 36 2229|1F2 K & EFES SR F4X100mR

F | 38 2230|=E HE EFES =R ZF4X100mR

T 38 2144|Ex = EFES SR FA4X400mR

2 | 40 2134|211 x5 EFES =R ZF800m

v | 40 2136\ AR T EFES =R F800m

¥ 42 2419[HLE W EFES BRZFR ) $#(600g)

7 | 42 2131|FE RE EFES SR T A% (1.000kg)

2 | 44 2227|117 =X EFES SR F 483 (1.000kg)

V| 44 2146/ 74 ZHRR | EFES R F =Rk

¥ | 46 2133|1181l =m=EF E¥ES ERZFEED

7 | 46 2138| M FiFE EFES ERZFEED

2 | 48 2147|HBE  fEK E¥ES =R ZFERB

v | 48 24183k ETE EFES =R FEMRB

> | 2 2139| &l T2 EFES EREZFEE

X 2 2140|588 kXK EFES =R FEE

J 2 21918 H = EFES =B F100m

k 4 2198|7/K% BEEE EFES =R EBEF100m

= 4 2197|iREE EBEX EFES =R EF1500m

* | 4 2192|=H 2t EFES =B F200m

7 6 2196|720 FEth EFES =B F200m

X 6 2655|EFE 1HEE EFES =B F3000m

/ 6 2199\ 1Lty EA EFES =R EF400m




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]

37av 7y 17 N 2365113 E EFES =B F400m

37avy 17 = 2195|111 F A EFES =558 F400mH(0.914m)

378y 7 17 * 2654\ = EFES BB F400mH(0.914m)

370y 7 17 + | 10 2200 A%  BK EFES =B TF4X100mR

37av 7y 17 X 10 2648|ittH B— EFES SR EF4X100mR

370y 7 17 [ 2647|181l R EFES =B TF4X400mR

37Avy s 17 = | 12 2650(7k8F HEx EX¥ES =B FA4X400mR

370y 17 | 12 2657(F1F)  Bith EFES =B F4X400mR

378y 18 / 10 2490(1fEAN  BE2RK EFES =R B F800m

37Avy s 18 F | 14 2651|778 IR EFES =R B FERB

370y 7 18 X | 14 2656(& 1L Bk EFES =R B FERB

37av 7y 18 / 14

370y 7 18 k| 16

37ovy 7y 18 — | 16

370y 7 18 * | 16

378y 18 + 18

370y 7 18 X | 18

37avs 19 J | 17 0172|5118 |y MES B F400mH(0.762m)

378y 19 b 20 9251|1RE  #mK MES =R EF100m

37Bv 7 | 19 =1 20 9252| =4 FiE MRS SR EF100m

378y 19 3 20 9248|KIE K MES =R EF200m

378y 19 + 22 9258|115 KB MES SR B F200m

378y 19 X 22 9236|#rtE @St S =B F400m

37Av 7 | 19 k| 24 9253|M)  BEKER MES =REF400m

37avy s 19 = | 24 9256|121L B MES B EF400mH(0.914m)

37avy 19 | 24 9242\ ¥ EKER MES BHEBEF N ¥ —12(6.000kg)

378y 20 / 23 9240(428 EXRED MES BB 7 (1.750kg)

378y 20 + 26 9264|1kEE =/ S =R B F A% (1.750kg)

37mvy s | 20 X | 27 9259|553k #HBE MES =SREFESB

37mavy 7 | 20 J | 27 92241|1EX & MES =R 5 FERB

37mvy s | 20 k| 28

37avy 20 = 28

37y 20 x 28

378y 20 + 30

37y 20 X 31

378y 20 k 32

37y 20 = 32

378y 20 S 33




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
37Oy | 21 J | 29 4155|178 BAEE KitF R =R ZF100m
378y 21 / 33 A339BH B KitFES =SR2 F100m
37av o | 21 > | 34 4159k B MItFES =R ZF200m
378y 21 X 35 4160[%E 1EF MItFES =SR2 F200m
37Oy | 21 k| 36 4158|HE 1t KitF RS =R ZF400m
37avy 21 = 36 A162|h0EE #EX HMItFEES SR ZZF400m
37av 7y 21 * 37 4338|177 JLEF KItFES =2 F800m
378y 21 + 38 4340(HAK #E HItFES =SR2 F800m
37av 7y 21 X 39 A157(=lE b H Y EitFES =R FRaALH (4.000kg)
378y 21 N 40 4337\l B MItFES B L FRIALE (4.000kg)
378v7 21 — | 40
378y 21 S 41
378y 22 / 39 7263|tE =E KrEZFS =SR2 F100m
378y 22 + 42 7269|HH B KrEZFS =SR2 F100m
37avs 22 X | 43 7266 TR oy BERFE  |BBE&F100mH(0.840m)
378y 22 N 44 72483 WAk KrEZFS SR F1500m
37av o | 22 = | 44 7258||JI  HRE Ky ERFm  |@KZF1500m
378y 22 * 45 7268| /]Il E KrEZFS =SR2 F200m
378y 22 + 46 7276(= ¥hn Hr BEZRFE SR ZF200m
378y 22 X 47 7257\ £E OE KrEZFS =SR2 F400m
378y 22 N 48 7690(# £ #EAK Hr BEZRFE SR ZF400m
37avy 22 — | 48 7125388 LD H KrBEZFE | LF400mH(0.762m)
37avy 22 > | 49 7273|7%ME Bk Hr BLFE  |&@RZF400mH(0.762m)
37avyy 23 E 2 7267|ER ¥EIB Hr BEZRFE B F4X100mR
378y 23 ~ 2 727113k8 M= KrEZFS SR FA4X100mR
378y 23 ~ 2 274\ E Hr BEZRFE S22 F800m
378y 23 /N 4 7280|=H EX KrEZFS =R ZZF800m
37Oy | 23 7 4 7255%F =M HrERFm |EREXF=EEB
37y o | 23 G 7272|FE B KrErRFE |ERTFIEE
37o0vo | 23 ~ 1 6 7254|008 EAE HrEmFm |ERZFESK
37mv o | 23 AN 7275|5M Ef KrErFEm |ERZETFESHK
37y s 23 7 7
378y 23 AN 8
37y 23 ~ 10
378y 23 AN 12




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
37av 7y 24 - 2222|&=H @ G =SR2 F100m
378y 24 2224|128 KR HiES =SR2 F100m
37Av o | 24 A | 22235=E #@ TS BRZF200m
37y | 24 7 | 11 2225 %L ER HES =R FERB
37av 7y 24 - 13 2359| K& BA S =REF100m
37y | 24 < | 13 2360|184 FEA HES BB F100m
378y 7 24 ~ | 14 2364 |mnEE  BRst HES SH B F110mIH(0.991m)
378y 24 AN 16 2361(%H =M HIES SR B F200m
37av 7y 24 ~ 18 2363|281l 4tk PG =B F200m
37av 7y 25 b 15 2357| R K S =R EF400m
37av2 | 25 AN 2517(#H%E WA HES =B F400m
378y 7 25 7 | 17 2358| /A& K BIES BB F400mH(0.914m)
378y 25 < 18 2362|F2 K TE PG SR B F800m
378y 25 < 19
378w | 25 = | 20
3Z7avy s | 25 ~ | 22
37avy 25 | 24
378y 25 ~ 26
378y 26 20 74208 F&A BT 55 = =SR2 F100m
378y 26 - 21 7T425(MH 2|4 s+ B S SR ZF100m
37avy 26 /N| 23 7415|WH ) 5 5 R ) B F100mH(0.840m)
37avs 26 7 | 23 77221/ BB ] I & B F100mH(0.840m)
37avy 26 < 24 T724| =12 O 7= a5 E =SR2 F200m
378y 26 ~ 28 7417\ BE MG 3 E S SR ZZF400m
378y 26 AN 30 74191 RE B& ) 55 2 [ =SR2 F400m
37mvy 7 | 26 ~ | 32 T723|EI1E BAR METES BT V) #%(600g)
378y 26 AN 34 7515[lhAR A ) 55 2 [ =R EF100m
378y 27 - 25 7517|#R %L a5 E S =R EF100m
37ov o | 27 N 28 7512/ NEH =X MG ES EREF1500m
37mvy o | 27 7 | 28 7522\ 1ha MIEFES =B F1500m
378y 27 28 7530|188 &=t MG 3 E S SR EF200m
378y 27 E 29 8103| LM EA MlE % E S =R EF200m
37Oy | 27 Nl 32 7513|EBAR  JTE MEFES =B F3000m
378y 27 7 32 7520|EE X MlE % E S = EF3000m
3Z7mvy o | 27 < | 32 7518[/\l MFE AEFES =B F400m
378y 27 ~ 36 7519|/9% EK MlE % E S =R EF400m
37avs 27 | 38 1521|AE k& ) I 5 R e =R 5B F400mH(0.914m)
37avy 27 ~ 40 7529 A% o] U5 5 () v =B F4X100mR
378v7 27 + | 42 7514\ X% #t s E S SHRETF v —1(6.000kg)




V=% FEE & No. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
378y 7 28 B | 32 7524\ KH  pRE ) U5 = Bl = BHBF v —1(6.000kg)
37avy 28 /N | 36 7528|RER Ak ] FE & =B F A% (1.750kg)
370wy | 28 7 | 36 7523 (BEMD i ) U5 = Bl = =R BFERD
37Bvo | 28 < | 36 8110|mEE EH g E & =R B FERB
37wy | 28 < | 40 7533|ARKt Bz el e BB FRINIZ(6.000kg)
37Av o | 28 ~ | 44 7534| AR HEAR IEZ E S S 5B FRIAR (6.000kg)
37av 7y 28 AN 46
378y 28 ~ 48
37av 7y 28 AN 50
A7y Y 1 F | 2 74801 =8 Fo) 5 48 P =R ZF100m
470y o 1 T 2 7486 |BEH  #HE [Eale i) =SR2 F100m
A7 Oy 1 z 4 7483|117 T & fee] U5 35 P B ZF100mH(0.840m)
A7y 1 D 4 7507|NHE %% [ U5 350, 7 EHLZF100mYH(0.762m)
A7 Oy Y 1 k 4 T748|fF  OMRT: fee] U5 35 P E# 4 F100mYH(0.762m)
A70v 7y 1 F 6 7476  TEXE fee] W35 P SR ZF1500m
A7y 1 T 6 TATT (M BB FiE) U5 408 P =R F1500m
470y o 1 X 8 7485|H%  BAZE fee] W35 P SR ZF200m
A7 oy g 1 Y 8 T497|7% T EBH fee] W 35 P =SR2 F200m
470y o 1 N 8 7487|A0 KEE fee] W35 P SR ZF400m
47av s | 2 F | 10 7500|mE HbH 2 A IS 45 78 SR&ZF400m
A7 oy g 2 T 10 7490|835k XFH fee] W 38 P SR F4X100mR
A7y 2 2 | 12 T4795EK  FEkR fee] U5 350 P =R F4X400mR
A7y 2 Vol 12 7484|F% Tk alapatiic) =R ZF4X400mR
470y g 2 N 12 7488|111l B3 fee) W 38 P SR FA4X400mR
A7 0y g 2 F | 14 7495k EZE feE] W5 35 P SR ZFA4X400mR
470y 2 T 14 T469|KH EM, fee) W 35 P SR ZF800m
A7 0y g 2 R 16 TATA\Y BEE fee] W 35 P =R ZZF800m
470y 2 V4 16 7494\ 5H FE fee) W 38 P SRZ T Y #(600g)
A7 0y g 2 b 16 7498|/\g XD E fee] W 35 P BRZZFR Y $#(600g)
A7y 3 ¥ | 18 7470|148 & alapatiic) =R LT = BBk
470y 3 7 | 18 7489|F M EEH F] U 355 BT F =Bk
A7y 3 2 | 20 7481|EH EE Fo] U5 38 P ERZFESD
A7 Ay Y 3 v | 20 7503 EE RK Fee] U5 35 P =R FE=B
A7y 3 k| 20 7491 (% Bk AR Fo] U5 38 P =R ZFERB
A7y o 3 F | 22 5025k H EHE Fi) W5 408 B =R F MR
470y g 3 T 22 TAT8|BRIR  HERY fee] W 38 P BRZ FHRIAL(4.000kg)
A7y o 3 2 | 24 7482(HE  FR Fee] U5 35k P =R FEE
A7y 3 V| 24 7505 |EFHF & Fo] U5 38 P IR FEE
A7y o 3 k| 24 7603(fFF  1E Fi) W5 408 B =R EBEF100m




V=% FEE & No. E7R % B R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
A7y 4 N]19 7610|EH A fee] U5 35 P =EREF100m
A7y Y 4 /| 21 7656|5%H S fef] 15 35 el EHEF110mIH(0.991m)
A7y 4 F | 25 7602|ILH  —% fee] U5 35 P =B F1500m
A7y 4 7 | 25 7662|1EfE At fee] U5 380 7 =B F1500m
A7y 4 > | 25 16201 RR [EfE Fo) W5 48 B =R EF200m
A7 dy 4 X | 25 7658|fiE Kk fee] U5 380 7 =B F200m
A7y 4 /| 25 7597\ ER Fo) 5 48 B =R EF3000m
A70v 7y 4 X 27 7604| K7BE # [Eale i) =R B F3000m
A7 0y g 4 V4 27 7595 |#JR Rt fee] U5 35 P =R EF400m
A70v 7y 4 N 27 7623|RH ME [Ealp i) SR B F400m
A70v 7y 4 = | 27 7630|HE B o) U 3k PR SR 5B F400mH(0.914m)
A7y Y 4 ~ | 27 1672\B5E LK fee] W 38 P S B F400mH(0.914m)
A7y 4 F | 29 7614\LF BH Fo) 5 48 P =B F4X100mR
A7 ny Y 4 7 | 29 7629|185 K —B& ] U 358 =REFAX100mR
A7 oy g 4 + 29 16441EH  fEE fee] U5 35 P SR EBF4X100mR
470y o 4 X 29 1657|\mB 4% fee] W35 P SR EF4X100mR
A70v 7y 5 + 2 7664\ ILO BB&E fee] W35 P SR EF4X100mR
A7 oy g 5 X 2 7667|HZE ME foe] U5 35 P SR EBF4X100mR
470y o 5 / 2 7622|FAR KA fee] U5 350 P SR EF4X400mR
A7y 5 = 4 7636|EKR #HE FiE) W5 48 P =R B F4X400mR
A7y 5 * 4 7655/N&  UAK fee] U5 350 P SR B F4X400mR
A7 R0y 5 va 6 1673\ EE Fe) U5 408 P =R B F4X400mR
A= 5 54 6 7596|EHE KX Fee] U5 354 P =B F800m
A70v 7y 5 / 6 7613[;kH Rt fee] W 35 P =B F800m
A7 a7 5 = 8 7641|1A  BEK Fee] U5 350 P BB FEBE
A7y 5 * 8 7661|3kE =& alapatiic) =R BF =Bk
A7y 6 J 9 7624|HF KB alapatiic) =BRBFESB
A78av o 6 7 | 10 763118 FRK Fee] U5 35 P =SRBEFESB
A7Ravy 6 X | 10 7611|%H R alapatiic) =R B FERB
470y 6 = | 12 8149|NH & F] U 455 =R B FERED
A7R0y 6 * | 12 7627|fREY  BIG alapatiic) =RBFEE
A7y 6 /| 13 7659|MK  SKBA Fee] U5 35 P =SRBFEE
470y g 6 + | 14
470y 6 X 14
A7y g 6 — | 16
470y 7y 6 * | 16




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]

A7 Ay Y 7 Nl 16 2258|BA& K2 RiES =R ZF100m

A7y Y 7 F | 18 2262|FL FE RiES =R ZF100m

A7 Ay Y 7 % | 18 2390|%& T AHEF RiES =R ZF100m

A70v 7y 7 / 18 2259/NE IS RIES SR ZF200m

A7Rnv o 7 =] 20 2261 H  FHk RiES =R ZF200m

A7y Y 7 =~ | 20 2260|/\HR &S A= =R ZF400m

470y 7 + 22 2389(18% &S RES SR F4X100mR

A7y Y 7 X | 22 2410078k W& RiES BB F100m

A7 Ay Y 7 = | 24 2013|B2 1BE RiES =B F100m

A7 dy 7 | 24 2590|BE X REE S EF110mIH(0.991m)

A7 0y 8 E 1 2591:F1L RKEA RiES S B F110mIH(0.991m)

470y 7y 8 ~ 1 24088 —EHE RiES =B F200m

A7y Y 8 < 1 24142 K& RiES BB F200m

A7Rnv o 8 N3 2409|Mnf  FEZE RiES =B F400m

A7y Y 8 7 3 2418\ Fa  1&H REE BB F400m

A7 Oy Y 8 By 3 2411101l JeiE RES S BB F400mH(0.914m)

A7 Oy 8 b 5 2412|1%K BN RES S EF400mH(0.914m)

A7y Y 8 ~ 1 5 2419|EX. WE RiES =5 F800m

A7y Y 8 < | 5 2420(F%F L AE REE =B F800m

A7 oy g 8 AN 7

470y o 8 7 8

A7 oy g 8 -t 9

470y o 8 ~ 9

A7 0y g 8 < 9

470y 8 AN 11

A7 0y g 8 ~ 13

A7y Y 8 ~ | 13

A7y Y 9 | 12 A113|EH  BRK ZRE =B F100m

A7 0y g 9 7 12 AB82|AIFY  1EEL ZRE =R EF100m

470y 9 AN 15 4111113k &EH ZRE SR B F200m

A7 0y g 9 7 16 4881|7k8 FIX ZRE =B F200m

470wy 9 ~ 17

A7y g 9 < | 17

470y 9 AN 19

A7 oy Y 9 ~ | 21

470wy 9 < 21

470y g 9 AN 23

570y 1 Z 1 2170|8kE < B H ey P22 F100m

570y 7 1 b4 1 2171|117 BB E A R F 722 F7100m

570y 1 F | 3 2179\ &= EF P22 F100m

570y 1 7| 3 2173|KXFIH =& E A 54 F100mH(0.762m)

57 Ay 1 2 5 2174|518 BAMK £ F1 4 F100mH(0.762m)

570y 1 b4 5 2182|+ & A& et 5% F100mH(0.762m)




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
570y 2 F | 7 2175|g1H EIFE Ealy 72z ¥1500m
57 Ay Y 2 F | 7 2177|1kx BER Eres 22 F1500m
570y 2 Z 9 2178|FmL EfE EH A 72z ¥1500m
570y 2 v 9 2180|# B FkE A 522 F4X100mR
570y Y 2 F | 11 218118 #EE Eraifes R4 F4X100mR
57 Ry Y 2 F | 1 2183|%BE =M EF 2z F4X100mR
57 Ay 3 % | 13 2184|=H &4 By HRF 2 FRENR B
570y 3 vo| 13 2185| &2 E EH A HR 2 FRE R B
570y % 3 F | 15
578y 3 7 | 15
570y % 3 2 | 17
578y 3 Vo 17
570y 4 F | 19 2221|NBE £ BARES =R ZF200m
570y 4 7 | 19 17|2E ZEH BHAES SR ZF4X100mR
5708wy 4 X 21 2220(FFv A 2 BEHIES SR FA4X100mR
570y 7 4 Vol 21 2218|18R b EHRES =R ZF800m
578y 7y 4 F | 23 2216|[7  Oste BHPES SR T A% (1.000kg)
570y 4 7 | 23
570y 5 % | 25 1781|&fHk WA B HIREF FF 22 F100m
5708wy 5 V4 25 1784|f®)1l Hfe F R fE FEZF100m
570y Y 5 ¥ | 27 177191 BE FHMFEF 4 F100mH(0.762m)
578y s 5 F | 27 2349|HF P& FHE T 54 F100mH(0.762m)
570y % 5 £ | 29 1780|5FA  HA4F B AEF 22 F1500m
57 Ay Y 5 Vo 29 1782|kA  RB BHfES 2z 71500m
57 Ay Y 6 k 1 1777|4H  #7E BHfES 2 F4X100mR
57 Ry 6 - | 1 1778|8AK EH LR ez F4X100mR
57 Ay Y 6 > | 3 1783|581 A B AREF HR 2 FRE R B
A= 6 54 3 2350|fgiE W R F B HEF L F RN (2.721kg)
578y 6 k 5
57 Ry Y 6 = 5
570y % 7 F | 7 2215\l HE STy FF 22 F100m
578y 7 X 7 2295|#  HAKER bl FEEF100m
578wy 7 N 9 2301 |8k%y 1hEH FHIF FEEF100m
578y 7y 7 = 9 2302|288 —#E bl FEEF100m
570y % 7 + | 11 2303tk E—BB EpiIly FF B F1500m
570y 7 x| 11
578y 8 k 13 221414 O &Y EHS =SR2 F100m
570y 8 = 13 2280[EHER  ERK FHS =R ZZF100m
570y 8 + 15 2212|3k% Bk EHS =SR2 F1500m
578wy 7Y 8 X 15 24091 BX FHS =2 F1500m
570wy 8 N 17 2202| K& Eft FHe =SR2 F200m
570wy 8 = 17 228l| =y BHE FHS =SR2 F200m




70y FE & No. E7 X EZR ] (i HiniER
FEFEfERE EEESIE [27nvs v 12] - [2-7-12]
578y Yy 9 + 19 2207\ Kk EF FHE =R ZF400m
570y Y 9 X 19 2283|EH B S =R F400m
578y Yy 9 b 21 2205( 1A & FHS =R FA4X100mR
57 Ry 9 = 21 2408|1EHE  InAs ZFAlE SR ZF4X100mR
570y ¥ 9 + 23 2211|hngE  BR FHE =R FAX400mR
570y 9 X 23 2213| A Fn FHe SR ZF800m
570y 10 N 25 2407\ HiEA ZFAlE =R ZF800m
578y 7 10 = 25 2318|1EE =B FHE =SREF100m
570y 10 + 27 2350|5F & FAlE =RBEF100m
570y 10 % | 27 2335|Ellm BR B BB B F110mIH(0.991m)
570y 10 N 29 2450(LA 18 FAlE SR EF1500m
578y 7 10 =1 29 2456|F [ &K FHE =R EF1500m
578y 11 * 1 2352\ BX FHE =R EF200m
570y 7 11 / 3 2365 |#efE  ERSL S =B F200m
578y 11 /N 4 2321|181l iz EHS SR EF3000m
570y 7 11 S 5 2451|=H ¥K S =B F3000m
570y 7 12 E 2 2326|FL = S =R B F400m
578y 12 / 7 2334|R% #Hib FHE SR EF400m
570y 7 12 A 8 2346|1kE B S SR B F4X100mR
578y 12 x 9 2348|LlE  ZKEA FHE =R EFA4X100mR
570y 7 12 / 11 23b1|REE 1K S SR B F4X100mR
5780y 7 13 - 5 2488|7kEF EX S SR B F4X100mR
578y 13 A 12 2349|HEE K FHE =B FA4X400mR
57Bvs | 13 | % | 13 2632|=H BE(- EHS &R % F800m
570y 7y 13 / 13 2633|=EE =P FHE =R EF800m
57Bvs | 13 | % | 17 2312\ A EHS =R EFERB
57 Ay Y 14 E 9 2356|F& L IREE EHS SR B T RIN%(6.000kg)
578y 14 A 16
570y 7 14 x 21
57 Ay 4 15 | 12 2320|78E f@F ERFES =R ZF100m
570y 15 |20 2317|FE & EAFES =R ZF400m
570y 15 x 25
570y 7y 15 S 29
570y 16 ~ 1 230[B% HAa BEXZFE SR A F400mH(0.762m)
570y 16 ~ 1 227(=)1l  #57E BXLZF5 EHLF /N> < —1%(4.000kg)
57Rav7y 16 By 3 458| =M U= wa E = BT v~ — 12 (4.000ke)
578y 7 16 7 4 233| &k 1A BEXZFE BRZ T #%(600g)
57RAvY 16 ~ | 5 235|%  EEE BEXZFE mRZF Y $%(600g)
A= 16 < 5 226|+ls HmAF BEXZFE SR T 8532 (1.000kg)




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
570y 17 e 231{AE T BEXZFE S T8 (1.000kg)
57 Ay Y 17 7 8 225|F ) E&E BXZFm =IREF =Bk
570y 17 ~ 1 9 A57|ER R BXZFm =R FERB
570y 7 17 < | 9 A64|EMH BF BXZ¥Fm =R ZFERB
578y s 17 |11 232|185k ETh BxXZFm SR FRMIZ (4.000kg)
57 Ry 17 / 17 236|58H EEH BXZFE B FRa A% (4.000kg)
57 Ay 18 7 | 12 234(%7E  #3) BXZFm R FE
578y 18 ~ | 13 465|fRER T BxXZz¥m EREZFEE
570wy 18 < 13
570wy 18 AN 15
570wy 18 ~ 17
570wy 18 < 17
578y 4 19 7 | 16 9476|BFH K k= olasre SHEF110mIH(0.991m)
5780y 7 19 AN 19 9482| A #HR BEthRs =R B F800m
5708wy 19 21
5780y 7 19 < 21
5708wy 19 AN 23
5780y 7 19 / 23
670y 7 11 T 1 9050(/JvE K == SR ZF100m
670y 11 B 1 9060|IFA B 2iis =R ZF100m
A= 11 0 3 9056|/\iL & 2llE B F100mH(0.840m)
678y 7 11 > 3 9264|BTH L& 2= =SR2 F200m
678y 7 11 T 5 9051(/vE bR == SR ZF400m
678y 7 11 VA 5 9266|fEiE  HATE I =SR2 F400m
A= 12 0 7 9058|EH W¥ 25 SR F400mH(0.762m)
670y 7 12 71 9 9054|lLA  FUML 2s ERZFEED
670y 12 H | 9 9061|/\k  1&F 25 ERZFESB
670y 13 7| 12 9057| 5 R HEi 25 =R FERB
678y 7 13 VA 12 9067|= FR == R FERB
670y 13 a | 14 9052|JIIAKR AB 5 25 EREZFEE
678y 7 13 v 14 079BER LK == SR B F100m
670wy 13 T 16 9100|fR HE 2lls SR EF100m
678y 7 13 Vi 16 9461 | FK = =B F200m
670wy 13 | 18 9462|=M K& 2lls =R EF200m
678y 7 13 v 18 9103(& =3 = =R EF400m
670y 14 o 19 9460|E 1L FAR = =REF400m
670y 14 H# | 19 9074EH K 2iis EHEF400mH(0.914m)
670y 7 14 a 21 9062|HH FE 2l SR EF4X100mR
670wy 14 > 21 9068|%H E4% 2lls SREBEF4X100mR
67Ry Y 14 71 23 9088| 8B EBK 2l&E =R EF4X100mR
670wy 14 Vi 23 9092|FIHEF K% == 2B F4X100mR
678y 7 14 | 25 9072|tH  1EFH 2E SR B F4X400mR
670wy 14 D4 25 9087|KkH EHXE 2S 2B FA4X400mR




va=E% JEE FE No. E7 2R % m [ A - HiGER
FEFEFEE EEESIE [27pvs v 12] = [2-7-12]
670y 15 z 1 9071|3EH W == BB TR #(800g)
678y 7 | 15 vl 1 9069|#A S & 25 BB F = BBk
67Avo | 15 + | 3 9091|/JIl  #hth 25 ERE T = Bk
6787 | 15 Z | 5 078|zE EE 25 =SREFESB
670y | 15 v | 5 9080|—® #K 25 BREFESH
67Avo | 16 > | 7 9084|% T It 25 BRE FERB
678y 7 | 16 + | 7 9070|/\#k  HFS 25 S 1% B TR (6.000kg)
670w | 16 Z |9 9066 |/NEE fBAX 25 =R B FEEBk
6787 | 16 vl 9 9101| T8 %58 25 BB FEEHk
67y | 17 Z | 12 TAGA|FH £ ERARS S22 F100m
67av s | 17 v 12 7462|112 =<5 ERABRS =R ZF1500m
67y | 17 + | 14 7463|355 o ERAAS =% F1500m
67Avy | 17 Z | 16 7465|7K% & ERABRSD =R ZF200m
A= 17 v | 16 7461(1EH  ImH EHRHAAS =R F400m
67Avy | 17 + | 18 7466(TE =<5 ERARSD S22 F800m
67Avo | 18 Z | 19 7583|E#E YLz ERARSD EREF100m
678y 7 | 18 v | 19 7588|& % RER ERARS ESREF100m
67Avo | 18 + | 21 7577\ LA st ERARSD =B F1500m
678y 7 | 18 Z | 23 7592|h08E B ERARS SR B F1500m
670y | 18 v | 23 7584|FRF ERARSD =R EF200m
678w 7 | 18 + | 25 8101 RAR &8 EHAAS EREF200m
670y | 18 vo| 27 7582\ B ERARS S 5B F3000m
670y | 19 F | 1 7586|MiL B2 EZHRARSD BB F3000m
67Aavo | 19 F 11 7576\ 1L K& E2HAAS EREF400m
670y | 19 % | 3 7581|711 ZEd EZHRARSD =B F400m
67Aavo | 19 vl 3 7578|B3L EW E2HAAS =B F800m
670y | 19 F | 5 7585|mAB @ Z=EfA EZHRARD S EF800m
678y 7 | 19 7| 5
67Rv o | 20 z 7 4253\ ER LR KEEE |[®KZF100m
678w | 20 vl o7 4251| ¥%E ZRAEES |EREFERD
67Av2 | 20 F | 9 4252 |FB1E  FK ZRAEES |SRZFERB
67Av 2 | 20 F 1 9 4501 |k KE ZRAKEES |BKREF100m
678w 7 | 20 2 | 11 4502|lLA RS ZRKEES |@KREF100m
67Av 2 | 20 Vol 11 4463 |fFEE A ZRAXEEE |@REF1500m
67nvy | 21 7 | 13 4490|8  RE ZRAKEES  |&REF1500m
67y | 21 7 | 13 4503|7kA EBX ZRRKEES  |@KREF200m
67y | 21 % | 15 4491 (85K FEN ZRAEES  |&KREF3000m
67Avs | 21 v | 15 4492 |HBE MEX ZRKEES  |®KRBEF3000m
67nvy | 21 F | 17 4465|F)I1 EEEF ZRAKEES |BKREF800m
67w | 21 7 | 17 4466 |85  {Z#T ZRKEEES  |@KREF800m




va=E% JEE FE No. E7 2R % m B HiGER
FEFEFEE EEESIE [27pvs v 12] = [2-7-12]
67y | 22 % | 19 2290(BsH WhTE ZRREEF  |PFELF100m
67nAv o | 22 v 19
67y | 22 7 | 21
67Av o | 22 7| 21
67y | 22 2 | 23
67Av o | 22 v 23
678y 7 | 23 2 | 26 2123|h—7 T7AxY |LEES S EF100m
67Avy | 23 v | 26 21372 H# BaE ZHES EREF100m
670y 7 23 F | 28 21240\ &N ZEES EHEF110mIH(0.991m)
670w | 23 7 | 28 2138[KH ZHES =B F1500m
678y 7 | 23 2 | 30 2150(FH BX ZEES SRBF1500m
67Avy | 23 v | 30 2125|788 ZHES =B F200m
670y | 24 F | 32 2128|pH ==& ZHES =SB F200m
670y | 24 7 | 32 2134 H FBEAEB ZHES =R EF3000m
670y | 24 % | 34 2596| AR BEC ZHES S BF3000m
67Av o | 24 V| 34 21518k HE ZEES =R EF400m
670y | 24 7 | 36 2152|/nEE  [LEH ZHES =R EF400m
67Av 7 | 24 7 | 36 2127|310 1#E ZEES S EF4X100mR
67Rv s | 25 % | 38 2131 RiF LZEHES SR B TF4X100mR
67Avs | 25 v | 38 2153|5 E& ZHES SR B F4X100mR
67Avo | 25 7 | 40 2136| LA HFA ZEES S B FA4X400mR
670w | 25 7 | 40 2155(F1R  AH ZHES SR EF800m
678w | 25 g | 42 2595| [ MR ZHES =B F800m
67y 25 Vol 42 2157|kA  #EMR ZEES BREBETF /> ¥ —1%(6.000kg)
678wy 26 F | 44 25072 EBEXC LEES SHEEF Y v —1(6.000kg)
670y | 26 7 | 44 2159| K18 #AE ZHES BB T Y #(800g)
678y | 26 % | 46 2709|835  =iE ZHES S 5B F 4% (1.750kg)
670y o | 26 v | 46 2708 1L 4 LZHES =R B FERB
670w 26 ¥ | 48 21301%F7F #HE ZEES =8 B FRIMI% (6.000kg)
678y 26 T | 48 2133| 2 K% ZHES =8 B FRIMI% (6.000kg)
67w | 27 F | 1 1531))IIB =£E ZEEF 8 F100m
678y | 27 X 1 1532|F 8 #esE ZHEF &8 F100m
67wy | 27 k| 3 1537|7% 5LAK ZHES R EF100m
678y | 27 =1 3 1534|LE  HEK ZHEF & 857 1500m
67wy | 27 5 | 5 16535|BE K& ZHES R85 1500m
678y | 27 X | 5 1539|E1R Rz E ZHEF & 857 1500m
6787 | 28 k 7 1529|121k &BF ZHEF 8 F4X100mR
67Avs | 28 = | 7 1530(#H BE ZHES = 8 F4X100mR
67Av o | 28 +F | 9 1541|8kE 2 ZHEF 8 F4X100mR
67Avs | 28 x| 9 1536|114 & ZHES fh i B FRE MR
678y 7 | 28 o] o11 1542|B& Z&YF ZHEF B 7 E Rk
67Avy | 28 - | 11 2562|4bFH B —EA ZHEF fh B FRE R




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
670y 7 29 > | 13 2773|HH 1 ZHEF th % 88 7 413% (5.000kg)
670wy 29 X 13
678y 7 29 b 15
A= 29 = | 15
678y 7 29 + 17
678v2 | 29 x| 17
678y 7 | 30 | 19 4105|#F5E BEATE ZHEXRAS |[@R&ZF100m
678y 7 30 = 19 4367|Fx 1L BEE A YN =SR2 F100m
670y | 30 F | 21 4111\ £% =4 LZHERAS |@KZF1500m
670w 2 | 30 x| 21 4109(#BE —E ZHERAE |@KZF200m
670v2 | 30 k| 23 4368| VTR ek LZHERAS |[®KZF200m
678y 7 30 = 23 A104|BE &= LEERES =SR2 F400m
678y 7 31 N 26 4110|=8w #0f8 LEHERES =R ZZF400m
670y 31 = 26 4369|# HE =21 ZHEXRES =R ZF800m
67Aa vy 31 + | 28 A4102|/F] A ZEERKAS  |BhzF v —1%(4.000ke)
670y s | 31 X | 28 4107/ & ZEBRAS  |BHxF/ < —#%4.000ke)
678y 7 31 b 30 4101(IEH = LEERES BT $#(600g)
670y | 31 = | 30 4108|FAE FAE ZHERAS |[BRLZFPYi(600g)
A= 32 F | 32 4100|HE  FiE ZHERAS  |SRLFME#%(1.000kg)
670w 32 X | 32 41035 H54 F ZEHBARAS  |SRLTFRNE(4.000kg)
670y o | 32 k| 34 4169(#F K ZHERAR |[@KREF100m
670y 7 32 = 34 4170(F T—ER LEHERES =R EF100m
6707 32 + | 36 4198|MNEE  IRAE ZEERAS |BBRBEF110mH(1.067m)
670w 32 X | 36 4832|BEH B ZEBEARAS  |SKRBEF110mIH0.991m)
670y 33 b 38 4214|985 %A LEHERES =B F1500m
678y | 33 — | 38 4216|1RE 1B LZHEXRAR |@R5EF1500m
670y 33 + 40 A190|/\PR BB E A LEHERES =R EF200m
67mRv s | 33 X | 40 4206/ IHE LZHEXAS |[@RBEF200m
670y 33 b 42 A4195| KA HBE LEHERES =B F3000m
678y | 33 = | 42 41811 EH REk ZHEXRAS |[@RBEF400m
67y | 34 | & | 44 4207 [BEAS  1&A LEHEAREE  |[@R3BF400m
A= 34 X | 44 41847k /& ZEBERAS  |SKETFA400mH(0.914m)
670w 7 34 b | 46 4196|177 F = ZEERAS |BBBET400mH(0.914m)
67RAy 7y 34 = 46 A182|fexr BIE HHEXRES 2B F4X100mR
678y 7 34 + 48 4209|7EH W4 LEHERES SR EF4X100mR
670wy 34 X 48 4211/h8  Ft HHEXRES =B F4X100mR
670wy 35 / 1 4213|HEA+A  EK LEERES 2B F4X100mR
678y 2 | 35 b 1 A171|=EH# BERK ZHERAE |[&KEF800m
670wy 35 *~ 3 A4192|RH "=} LEERES =B F800m
670y 7Y 35 A 3 4200|/\B 2 LZHERAS  |[BBBF/ 7 —15K(6.000ke)
670y 35 J 5 4219|835k BE ZEBAAS  |BRBEF/ >~ —1#(6.000kg)




va=E% JEE FE No. E7 2R % m [ A - HiGER
FEFEFEE EFEESIE [27avysy v 12] - [2-v-12]
67Avs | 36 b 5 4197|RIE A ZEEARS |[SKRBFP X600
67Rv o | 36 x| 7 4220(%H A ZEEARS |[SKRBFPYIE(B00g)
67 Ay 7 36 J 8 4180|184 KB ZEHERAS |SRBFMER(1.750kg)
67Rv o | 36 x> | 11 4218| EFF B8 ZHEBAAS (BB FHER(1.750ke)
678y | 37 £ 9 4193|FEiE  RAT ZHEAARE |ORBF=EB
67Avy | 37 J | 12 4837 EAM B LZHEXAE |aRBF=EBK
67nvy | 37 N 12 4894 (%1l kK ZHEAARE |ORBFESB
670w | 37 * | 15 1203|EH EE LZHEXRAE |@RBFERBK
67Avs | 38 | 12 4204|#F ZE LZHEXRAE |@RBFERB
A= 38 N 16 A172|&E18 iR ZEBEARAS  |SRBTFHRMNE(6.000kg)
67Avy | 38 J | 17 4194 E Ex LZHEBRAS BB FRAE(6.000kg)
67Rv o | 38 * | 19
67mv o | 38 * | 23
67Avo | 39 N~ 19 4005(3EH  ZEHR N SR ZF100m
678y 7 | 39 E | 19 4006|333k » = E N ERZF100m
67mv o | 39 7 | 19 4301|1RIR &t YN =R ZF200m
67Rv o | 39 J | 24 4004 |)1IFF 374 A N =R ZF400m
67mv o | 39 * | 26 2318|E  FEFI%K ZKH &2 F100m
67Rv o | 39 * | 30 1903|188 FfE B KAF 22 F1500m
67Av 2 | 40 7 | 21 6062| =1 F BUKXTS ERZF100m
678y 7 | 40 | 23 6156|F T& BUXTE SR ZF100m
670y 40 /| 26 6129(Fh8 BHBE BUEXRTE E 1% F100mH(0.840m)
67Av 2 | 40 N | 26 6019|tEs B2 BUAKX TS SR ZF1500m
67Rv o | 40 /| 30 6014|128 KEE BUKXTS =R ZF200m
67Av o | 40 * | 34 6061 |AH i BUAKX TS SR ZF200m
67mav o | 41 7 | 25 6059|dLAt 15 BUEAAS SR ZF400m
67Rv o | 41 b | 27 6060|=1E OE BUKXTS B ZF4X100mR
67Avs | 41 N |30 6015|F 4 1A BAKX TS B FERB
67Rv o | 41 J | 34 6021 |1/ AN =N = =R F ERB
67Rav o | 41 * | 38 6022|215 I5H BUEARAS =SB F100m
67Rv o | 41 * | 42 6238|1FEE VAR BUKXTS EREF100m
670wy 42 B | 28 6094|112 F K& BUXTS BB F110mH(1.067m)
670y 42 | 32 6181 |/ £ YEIKER BURTE BB F110mH(1.067m)
67Av o | 42 N 35 6020ttt — ‘UKD EREF200m
67Rv o | 42 /| 36 6023|7%% E—EA BUAKXTS SR EF200m
67RAv o | 42 /| 40 6095| T = ‘UKD EREF200m
67Rv o | 42 ~ | 46 6018|dLAT K BUAKXTS S EF800m
67Rv o | 43 ~ 11 6017|221 —5 BUKXTS SR B F P 1% (1.750ke)
678w 7 | 43 < | 1
67Rv o | 43 7| 3
67Rv o | 43 = | 3
A= 43 ~ 5
678y | 43 < | 5




vl =B FEE I No. E7Z % W OB HiGER
EEFIEE EEESIE [27pvs v 12] = [2-v-12)
670vy | 44 | K| 7 4152|BR  BRE Gl B ZF100m
670vo | 44 | 7 | 8 432911 oD Bl SR ZF100m
67 Ay 7 44 ~ | 9 4330|FBIERN FFHZ B BH%Z F100mH(0.840m)
67Rvy | 44 < | 9 4328 |#RE E EAR = ERZFA4X100mR
670vs | 44 | & | 11 4332|FIAF]  BA& ElS) S F4X100mR
670y | 45 7 | 12 4382|331 E2if ElS) S F4X100mR
67av s | 45 | ~ | 13 47358 K Bk BB F100m
670vs | 45 | < | 13 4731 K& R ELEE S B F1500m
670vo | 45 | & | 15 4285|=A AR Bk BB F200m
670vs | 45 | ~ | 17 4288|FH K&k ELEE BB F200m
670vs | 45 | < | 17 42878 E Bk SR B F4X100mR
670v 2 | 46 7 | 16 AT32|RIm  Zik Bk S B F4X100mR
670vs | 46 | & | 19 AT34|FEE E&3} ELEE S EF4X100mR
67av 2 | 46 | ~ | 21
67avs | 46 | = | 21
670vo | 46 | & | 23
670vo | 47 | & | 25 9178|FHE ER B/ ftaFEm |mR&F100m
670vs | 47 | % | 26 979 ER EE B/ fta¥s  |@K&F100m
67av s | 47 | ~ | 27 9181|=18 &M B/ itaFs @K% F1500m
670vs | 48 | & | 29 9183(pIFE MEF B/ itaFs |mR&F1500m
670vs | 48 | ~ | 31 9184ILA HE B/ ftZFE |@KR&F200m
67Rv o | 48 = | 33 9186| AR BE B/t FE  |[ER%ZF200m
670vs | 49 | < | 29 9180|#p A =2 B/t FE |mREFAX100mR
670y | 49 7 | 30 9185|#eH #EY B/ ItLTE |EREFAX100mR
670vs | 49 | < | 33 9187|itH BEHE B/t FE |mREFAX100mR
670vs | 49 | ~ | 35 9182|H#T EHXR B/ fta¥E | &F800m
670vo | 49 | & | 37 9267|BR HE B/ ftaFEm |mR%&F800m
670vo | 49 | ~ | 39
7nvy | 17 3 | 1 |J2426 AT 1% w=ES S EF100m
7Aayy | 17 |1 |J2472 ZxK  PHE BhES =REF100m
77avs | 17 | ¥ | 3 |J2427 NBR AR HES SR EF1500m
778y | 17 | = | 3 [J2429 meE Bl HiEm BB F1500m
77y | 17 o | 5 [J2473 BHFEY wBES HRETF200m
77y | 17 | ¥ | 5 1953|/1l#%  —3L4 BB R EBF100m
1778v2 | 18 a | 7 1954| FH HF BB R EBF100m
77avs | 18 | ¥ | 7 1960|&1E (= =EF 58 F100m
77y s | 18 | ¥ | 9 1952|BFH X BB 87 1500m
778y | 18 | | 9 1955 |fRER  BE&E ESpty 587 1500m
1778v2 | 18 o | 11 1957|/hRiL & BB % 58 F4X100mR
77y | 18 | ¥ | 11 1959|AiiE Bl H=EF 8B F4X100mR




va=E% JEE FE No. E7 2R % m [ A - HiGER
FEFEFEE EEESIE [27pvs v 12] = [2-7-12]
77Aavs | 19 4 | 14 4247|011 E2FIZR hEAE—S |[@ERZF1500m
77RAavs | 19 Z | 14 4249(#H hEAE—S |@RZF800m
77Aavs | 19 a | 16 A452|1ERE EH hEAE—E |[@EREFI500m
77Aavs | 19 > | 16 4453BH &KX REAE—S |[EKREF1500m
77Aav s | 19 4 | 18 4450/ KK hEAE—S |[SREF3000m
77Aavs | 19 Z | 18 4636|iFE AT REAE—S |[EKREF3000m
778y 7 | 20 a | 20 4460|285 & hEAE—T |[SREF800m
77av27 | 20 > | 20 4635|AF0H  fHF hEAE—E |[@REF800m
7Ry s | 20 H | 22
77Aavs | 20 z | 22
1778y 7 | 20 a | 24
77Aavs | 20 > | 24
77avs | 21 + | 26 4112|BFR B H 2 A =KL F100m
7avs | 21 Z | 26 4268|AJ11  #ak “A N ERZF100m
778y 21 o | 28 A113|giHH H T H =2 N E# 2 F100mH(0.840m)
778y 21 > | 28 4131/ E@ @1t E N = =4 F100mH(0.840m)
77avs | 21 # | 30 4129\ AW ZIRA M= SR ZF1500m
7avs | 21 Z | 30 4123|5@ BE 2K =R ZF200m
77ay s | 22 a | 32 4343(HH  BEE “ AN =R ZF200m
77avo | 22 > | 32 MN3R2ET BE ZIRA M= SR ZF400m
Ay o | 22 4 | 34 4344 |2 FHFE “ AN ERZF400m
778y 22 Z | 34 4120|#H E4£ =2 N B4 F400mH(0.762m)
77avs | 23 + | 1 4114|5BE AW ZIRA M SR F4X100mR
7Ry | 23 z 1 4115|115 1E3 = PN =) B ZF4X100mR
77avs | 23 v | 3 4122|FF  ZPh ZIRA M SR FA4X400mR
770y | 23 7 | 3 4121\ FBHEAS e N =R ZF800m
77avs | 23 + | 5 4130|888 {ZHT ZIRA M =R ZF800m
7Ry | 23 z 5 4125|808 HE e N B LT $#(600g)
7Ry s | 24 | & | 7 4342(db1L % “A N BRZF =Bk
177Ravs | 24 %2 | 8 4124 1LH Fk ZIRA M= B FERB
7Ry | 24 Vi 9 4128|4H P e N =R ZFERB
778y s 24 F | 10 4345|RB &R E N BB FRIMIZ (4.000kg)
77Aavys | 24 | & | 11 ROEHE EE LA M= EREF100m
7Ry 7 | 24 2 | 12 4230(7k8F AN ZIRAMS SR EF100m




va=E% JEE FE No. E7 2R % m [ A - HiGER
FEFEFEE EEESIE [27pvs v 12] = [2-7-12]
177Aavo | 25 vo| 14 246|8R E 2 A =B F1500m
7Ry 7 | 25 + | 16 4771151 EX ZIRA KD SR B F1500m
177Aavo | 25 2 | 17 4243[3EFK  fEX 2 A =REF200m
7Ry 7 | 25 v | 18 AT52|3fE  F55A =N =R EF200m
1778v7 | 25 + | 20 42281 B LA M= =B F3000m
7Ry 7 | 25 2 | 21 4226|288 AIK =N =R EF400m
177Aavs | 25 v 22 4750| k% Bt LA M= =B F400m
7Ry 7 | 25 + | 24 4222|#F BB =N S EF4X100mR
177Aavs | 25 2 | 25 4225|058 B LA M= SR B F4X100mR
7Ry 7 | 25 v | 26 4247|\@A K =N S EF4X100mR
1778v7 | 25 + | 28 4224\ K8 ML LA M= SR B F4X400mR
7Ry 7 | 25 2 | 29 4245|520 BE =N =R EF800m
177Aavs | 25 v | 30 4753|554 PUEE LA M= =R EF800m
7Ry 7 | 25 + | 32 4755 BHAE 2K BB T 1) #(800g)
177Ravs | 25 % | 33 4757|1E @z LI A M= BREFESH
7Ry 7 | 25 vo| 34 ATT3|BE N “A N =R EFERB
1778v7 | 26 Vol o1 4082| KT Pk AKRAIAKES |[&KRZF800m
177Ravs | 26 k 1 AT24|%ERE  FHER AKRAKES |@KEF100m
778y y 26 T 3 AT29|JIIARR IR KEAKEE SR B F100m
1778y | 26 v | 5 4146|fBA 4 KRAKES |&KREF1500m
7Ry 7 | 26 k 5 4152|hE AE KRAIAKXER |@&KBEF1500m
177Ravs | 26 F | 7 4725|1BA HE KRAAKES |[&SKEF200m
1778v7 | 26 vl 9 4728|EFH  1RIR KRAAKES |[@KREF200m
177avs | 26 k 9 4148(2%FF iR KRAKES |&KREF3000m
1782 | 26 F | 11 4727|fF&E EBX KEAKFAR |[&KEF3000m
177avs | 26 vl 13 4723|INE W& KRAAKES |[EKEF400m
7Ry 7 | 26 k| 13 4726()118&  HMEXK KRAIAKES |[@SKRBEF400m
177avs | 26 7 | 15 4153|5H L& KRAKES |@KREF4X100mR
1778v7 | 26 Vo 17 4730| Bl K2 KRAIAKES |[SKRBEF4X100mR
177avs | 26 |17 4138|114 1B} KRAAKES |[&KEFE00m
1778y 7 | 26 7 1 19 A748|1LIE  Fh KRAIAKES |[&KREFE00m
1778y 7 | 26 Vo 22 4722|LA TE KRAKES |BREFESK
778y 26 k| 22 AT21|EBEE R KEAKES |&SKETFRMNE(6.000kg)




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]

7Ry o |27 F | 15 31|{@EA k= WiES BRLZF ) $#(600g)

78y |27 F | 19 2|EH B HiES BT Y #(600g)

778y 27 F | 23 384| 5t FER E= S L F 8% (1.000kg)

778y y 27 F 27 30|EH 3= ES BREZFESB

7Ry o | 27 7 | 27 43|fFEE AR HiE=S =B F100m

778y y 27 V4 28 A9|RTH &KX ES SR B F100m

170y 27 F 31 h2l2H HZ FE= =B F200m

778y y 27 T 31 654|HHE B4 ES SR B F200m

770y o 27 V4 32 Al ER Beh HE= =R EF400m

778y y 27 F 35 h3|EAN EHL HES SR B F400m

778y 27 7 | 35 63|k IEEE ES BB F400mH(0.914m)

778y y 27 v | 36 A4 B LS —F3 E= SR EF4X100mR

770y 27 T 39 650[/AA E FE= SR B F4X400mR

VA= 27 V4 40 50| K% =K HES =R B F800m

178y | 27 7 | 43 6hl|=tiE &F WiES =5 F800m

A= 27 V| 44 hl{EE% EE HiES SR B T (1.750kg)

778y 27 7 | 47 bAlRE EX E= S B T (1.750kg)

770y | 28 = 1 412|5H# B HiES =BT =Bk

7Ry | 28 > | 3 46| KAR  KIAED HiES =SRBFESB

778y 28 X 3 649|fHlE RX WES =5 B FRIMI% (6.000kg)

1778 vo | 28 - 5 652|#T IEiE = BB FRIN % (6.000kg)

770y y 28 + 7

770y 28 X 7

778y y 28 - 9

770y 28 + 11

778y 28 X 11

770y 28 - 13

778y y 28 + 15

770y 28 X 15

778y y 28 = 17

770y 28 + 19

778y 28 X | 19

77Ravyy 28 = | 22




V=% FEE & No. E7R % B R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
A= 29 + 27 4029| A8 DX H EHS =SR2 F100m
778y 7y 29 N 29 432215 ¥4k = =SR2 F100m
A= 29 29 4321 EZE EE =SR2 F200m
778y y 29 + 31 4319 Ky EF =3 SR ZF800m
778y 29 | 33 4320|158 E& ElS S L F 8% (1.000kg)
778y y 29 - 33 4028|1LHAH ¥k 2 SR F ERBB
770y 29 + 35 A047\1FF £ U EE =REF100m
778y 7y 29 N 37 4053|585 ZYN = SR B F100m
778y 29 37 AT16%FF BT EE S B F110mIH(0.991m)
778y y 29 + 39 A046|FEE = 2 SR EF1500m
778y 29 | 41 4054|HHE WA EHE =R EF1500m
A= 29 = 41 4056|R FE1E = SR B F200m
7Ry s | 29 + | 43 4717 |tk FE s SREF200m
170y Y 29 N 45 4707\ =l EARER = SR EF3000m
778y | 29 = | 45 AT11|MA  ¥AR EHE =5 F3000m
17y | 29 | F | 47 4049|7BIE M5B == SR B F400m
A= 30 S 1 4705(2FH  F5Eh =t SR B F400m
IA=27 30 A 1 40507 B4 =2 SR EBF4X100mR
770y 30 / 3 4055|FH FRLER =t SR EF4X100mR
770y 30 x 5 A706|MF =t EEE SR EF4X100mR
A= 30 A 5 AT12|Z&AN B3} 2 SR EF4X100mR
778y 30 J 7 AT15| EBF  fE— EEE BB TP Y $#(800g)
A= 30 * 9 405118 *£= EHE =R 5 FERB
778y y 30 A 9
770y 30 / 11
770y 30 T | 13
77Ravyy 30 /N |13
778y y 30 / 15
770y 30 S 17
770y 30 N 17
770y 30 / 19
778y 30 S 22
77Ravyy 30 N 22




7avy FEEFENo. E7 X % m R B HizER
FEEIEE EFEESIE [27avysy v 12] - [2-v-12]
770y | 31 % | 27 242\ R+ =fS EH RF72zF7100m
778y 31 / 27 244|307 DAk B FE¥ % F100m
770y 31 =+ 29 245 (M = B % F100m
A= 31 2 | 31 201|F%8E EE7F B FE 4 F100mH(0.762m)
778y 31 /| 31 243\ LB Mot F% 4 F100mH(0.762m)
778y y 31 S 33 24054 FiZ B R F1500m
778y | 31 X | 35 247|% k£ EEa B 2z F4X100mR
778y 31 / 35 249 | BRI RO =374 B 2z F4X100mR
770y o 31 * 37 252|%EH = B FRF 2z F4X100mR
778y y 31 X 39 254|370 7E  1oBE B R F4X100mR
770y | 31 /| 39 246 R B4 B PP FESB
778y y 31 S 41 204|5H =l B FEEF100m
770y 31 X 43 210(#5H AT —BR B FEEF100m
778y | 31 J | 43 216(#  Fh—EA B FFEF100m
778y 31 > | 45 206(F8 = ot 8B F110mH(0.914m)
VA= 31 X 47 205)FH (PN B R EF1500m
778y | 31 J | 47 207|F% AIKEB EH FF B F1500m
770y | 32 7 1 208|B8 KfEsL B B F1500m
770y 32 E 3 213|1FH gl B FREFEF4X100mR
770y | 32 ~ 1 3 211|#1E =& B RFBFESB
IA=27 32 7 5
778y o 32 b 7
770y 32 ~ 8
778y y 32 7 9
770y 32 e 11
778y 32 ~ 12
A= 32 7 | 13
778y y 32 b 15
770y 32 ~ 15
778y y 32 - 19
A= 32 7 | 22
1778y 33 7 26 76111 =8 HE BEAZAIS =2 F1500m
778y 33 E 27 745114 K 4 FB BEK=AS =SR2 F400m
A= 33 /N 29 7337(1ES Mt BEAZAIS =REF100m
778y 33 E 32 7339|H K BEK=AS SR EF100m
770y 33 32 7334|/NFEJR 2 BEAZAIS =B F1500m
A= 33 A 33 7368|ElE MK BEK=AS SR EF1500m
770w | 33 | 36 T347|FBE FOA BFER=Am |[&KEF200m
778y 33 36 T349[EH HHHE BEK=AS =R EF200m
A= 33 /N 37 7361(FEEH S BEAK=ZAIS =B F3000m
A= 33 7 39 7838|BEH & BEXK=AS =R EF3000m
770y 33 A 41 7332[iE8 B BEXK=ZAS =B F400m
778y y 33 E 43 7335|5%R  HlE BEXK=AS SR EF400m
778y 33 /N |45 1348|FEE B BEXK=AS |[EKEF400mH(0.914m)




FEE & No. E7 X % m R B HizER
EFEESIE [27avysy v 12] - [2-v-12]

34 R 1 7340|188 =X BFER=Am |&KEF4X100mR
34 2 1 T343|HIR B BEAK=AS =SB F4X100mR
34 < | 3 7359 k& 1EIE BFER=Am |&KEF4X100mR
34 Ry 5 7355\ EF B BERK=A5S =SB F4X400mR
34 AN 6 7354(EEH  FEE BEX=ZAS =B F800m
34 < | 8 7834|1Mk  FHE BFER=Am |[=K5EF800m
34 2 9 73458 Y74 3 BEA=Fm |@RBF=EHK
34 = | 10 7344|HE & FER=Am |aKRBFERL
34 < 12
34 Ry 13
34 < 16
34 Ry 17
34 AN 18
34 Ry 22
35 ~ 20 4810|F% mib BEATS SR B F100m
35 AN 22 4886| A% ITHE BEXRLS =R EF100m
35 4 23 4511|155 BX BEXLS SR EF1500m
35 ~ 26 4516|=1L B2k BFEALS =R EF200m
35 = | 26 4815)A1E HIR BEALS BB F200m
35 < | 27 4504|7%F =X BERIS =B F3000m
35 2 29 4809(%AR Y] BEXLS SR B F400m
35 ~ 30 A818|FAH# hiE BFERLS =R EF400m
35 R 30 A514|p508E K BEALS SR EF4X100mR
35 < 31 A518|IER  BRK BERTLS SR EBEF4X100mR
35 ~ 34 4525 (BEAR K0 BEATS SR EF4X100mR
35 AN 34 4811|F" B 2 BERLS SR EBEF4X100mR
35 4 35 A522|T1FR K& BEALS SR EF4X400mR
35 ~ | 38 4523| KT BEXLS BIRE T $%(800g)
35 | 38 4814|HR ¢ BFERIS BB TP Y #%(800g)
35 < | 41 4515|FR  KRE BEALS S B TR 3% (6.000kg)
36 N 3 4527z FEt BEEAILS =B FRIALH(6.000kg)
36 X
36 N
36 L 12
27 J | 26 2156(1LE  E# BIAREZES |[&KZF100m
27 = 27 2160|apE 3 FEITRALES =SR2 F100m
27 > | 27 2153 £ BTARELES |&K&F100mH(0.840m)
27 / 28 2161|TH EF FEITRALES ERZF100mH(0.840m)
27 29 21578 A FE BIAREES |[&KZF200m
27 = 31 2168|F /Il 4 BEITRAES =SR2 F200m
27 X 33 2165|48)11 R FIRAES =SR2 F400m
27 1~ 33 2162|F% =K BT RELES =SR2 F400m
27 = | 35 2154\ My FFEfK BTARLES |SHLZT400mH(0.762m)




va=E% JEE FE No. E7 2R % m [ A - HiGER
FEFEFEE EEESIE [27pvs v 12] = [2-7-12]

28 < 1 2163|FAIER  HhI BIAZLES |EK&LF400mH(0.762m)
28 A 2164|LIE  TH8 BIALES |[@RZF4X100mR
28 7 2 24338 HXE FIRAES =2 F800m
28 = | 3 2159 AF  FIHE BIALES |@RZFERB
28 / 4 2203l B®A FIRAES =REF100m
28 E 4 2225|2H s BIALES |[@RBEFLI00m
28 ~ 1 5 2205 EX BIALES |BKBEF1500m
29 E 6 2211+ 1&1E BIALES |BKEBEF1500m
29 T 7 2212| kB 15 FEITRLES =B F200m
29 7| 8 2215|HH &KX BIALES |[BKEF200m
29 ~ 19 2207|&7F FBzBh BIALES |[@RBEF3000m
29 | 11 2213|1L1R B BIALES |[SKEF3000m
30 10 2230(F1 ) HEE BIALES |8KEF400m
30 7 12 2695(1  RE BEITRLES SR B F400m
30 13 2208|¥TH EF BTALES |&KETFA00mH(0.914m)
30 = | 15 2201 +hfE BIALES |[@KRBF4X100mR
31 | 15 2204|168 =iE BIALES |[@KRBF4X100mR
31 A 17 22437 AK  FEFR FITRAES SR EBF4X100mR
31 7 | 18 220985 IEA BIALES |[@KRBF4X400mR
31 / 19 2214(5331)  BE3} FITRAES SR B F4AX400mR
31 19 2240| == fRAKEA BIALES |[@KRBEF00m
32 N 21 2247|858 AKX EIA4ES |[@RBEF00m
32 23 2248|Hp B ETARELES =R B F A% (1.750kg)
32 7 | 24 2235|[@  KHB BT RGBS SR BF =Bk
32 N 27 2232| Lk Eth BEIXRELER |BRBFERE
32 | 27 27011+ fIE BITALES |SKBTHRMNE(6.000kg)
32 7 28
32 ~ | 31
32 7 32




